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ppm ppm
<00 * <0.02*
<00 * <0.02*
<00 * <0.02*
<0.0 * <0.02*
<00 * <0.08*
<0.0 * <0.08*
<00 * <0.08*
<00 * 0.21
<00 * 0.09
<00 * 0.09
<00 * <0.08*
<00 * 0.08
) (%)

51 0.102 105

102 0.204 100

510 1.02 95

51 0.102 118

102 0.204 107

510 1.02 103

(2pph) 51 0.102 103

102 0.204 108

510 1.02 106

51 0.102 109

102 0.204 107

510 1.02 97

51 0.51 111

102 1.02 99

510 5.1 96

(10ppb) 51 051 124

102 1.02 95

510 5.1 96

51 0.51 114

) 102 1.02 96

510 5.1 97

51 051 117

) 102 1.02 104

510 5.1 101

51 0.51 112

) 102 1.02 108

(10ppb) 510 5.1 94

51 051 101

102 1.02 104

510 5.1 108

51 0.51 110

102 1.02 108

510 5.1 106

51 0.51 108

102 1.02 93

510 5.1 99

(ppm)= (ppb)x x 1/1000
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